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QUESTION 1

Which three product capabilities allow Cisco DNA Spaces to deliver business value? 

A. Sense, Act, and Partner 

B. View, Interpret, and Act 

C. See, Anticipate, and Respond 

D. See, Act, and Extend 

Correct Answer: D 

 

 

QUESTION 2

What is one benefit of Cisco Umbrella? 

A. view of the network at a fixed point in the past to troubleshoot issues 

B. protection against command-and-control callbacks 

C. easy hardware installation 

D. real-time telemetry 

Correct Answer: B 

 

 

QUESTION 3

Which is a SKU for Mobility Express? 

A. AIR-AP1815W-X-K9 

B. AlR-AP28021-K9 

C. AIR-AP18151-K9C 

D. AlR-AP18521-K9 

Correct Answer: C 

 

 

QUESTION 4

Latest 500-560 Dumps | 500-560 PDF Dumps | 500-560 Study Guide                                2 / 3

https://www.pass4itsure.com/500-560.html
https://www.pass4itsure.com/500-560.html
https://www.pass4itsure.com/500-560.html


https://www.pass4itsure.com/500-560.html
2024 Latest pass4itsure 500-560 PDF and VCE dumps Download

Where on the Web User interface can customers find details of application visibility and control? 

A. the monitoring panel 

B. the dashboard 

C. configuration 

D. troubleshooting 

Correct Answer: B 

 

 

QUESTION 5

What is one benefit of the Aironet 4800 AP? 

A. cost-effectiveness for small-to medium-sized deployments 

B. modularity for investment protection 

C. Cisco CleanAir 

D. industry-leading hyperlocation 

Correct Answer: D 
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